Assignment 1 - Theory - result report for Grimnes, Jorgen Kjeldstad (24. januar 2012)

Results for Assignment 1 - Theory submitted 24.01.2012

Assessment Godkjent

Percentage score 100.00% (50% required to pass)
Total score: 17.00 out of a possible 17.00 points
Completion: Passed

Result list

No A | Question Submitted answer
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Question 2.a dprop = 0 seconds

dprop = 1/s seconds
+ dprop = M/s seconds

dprop = S/m seconds
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ion 2.
Question 2.b dirans = 0 seconds

dirans = 1/R seconds
+  dirans = L/R seconds

dirans = R/L seconds
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tion 2.c
Questio + dend-to-end = (M/s + L/R) seconds

dend-to-end = M/s seconds
dend-to-end = L/R seconds

dend-to-end = (8/m + R/L) seconds
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Question 2.d .
The bit has left host B

The bit has reached host B
. The bit is just leaving host A

The bit is in the link and has not reached host B
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Question 2.¢ The bit has left host B

The bit has reached host B
The bit is just leaving host A
« The bitis in the link and has not reached host B

Question 2.f

I

The bit has left host B

. The bit has reached host B
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The bit is just leaving host A

The bit is in the link and has not reached host B
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Question 2.9

193 km

493 km

893 km

1693 km

Question 3.a

dend-to-end = L/R1 + d1/s1 + dproc
deng-to-end = d1/81 + da/Sp + dproc
deng-to-end = L/R1 + L/Ro + dy/sy + dofsp

dend-to-end = L/R1 + L/Ro + d1/s¢ + do/Sp + dproc

Question 3.b

18 msec

30 msec

54 msec

56 msec

Question 4

NL/(2R)

(N-1)L/(2R)

L/R

NL/R

Question 5.a.1

4 sec

8 sec

12 sec

16 sec

Question 5.a.2

4 sec

8 sec

12 sec

16 sec

Question 5.b.1

1 msec

2 msec

3 msec

4 msec

Question 5.b.2

1 msec

2 msec

3 msec

4 msec

Question 5.c

1.002 sec

3.002 sec

4.002 sec

5.002 sec

1t0 17 of 17







